Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: JGOB?LECD display 0%_GO |« e =(L* =L )/ P w-L* )
CIELAB-Bunttonwinkel:

hap, ¢=[46, 101, 131, 196, 306, 326] |y
P, =146, 101, 131, 196, 306, 326]

atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
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a*5=Cap,a C0S
b*3=C*ap,aSin hap
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

: 9
System: JGOB?L!I’:CD display 40%_GO |« e =(L* =L )/ P w-L* )
CIELAB-Bunttonwinkel:
hap, (=23, 106, 139, 198, 293, 324] p«
hap x=[23. 106, 140, 198, 293, 324]

atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
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a*5=Cap,a C0S
b*5=C*ap a SN ey
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